Ko

E
or

<

—=
S

AU

)

38 52

18.)

0
KA
K0

n~J

0

Kl

<

r

t/

<J

21 Al OF

<J

i

<

fir

o0
&0

. [*(1.5.6.9.10.13.

)

38 42(

)

StHlol2d =

=l

- OH

2L

<J

rr

2 Al Ot/

<]

i

<

fir

0

o0
&0

)

38 3(
*(1.5.6.9.13.16.

-

<J

r

<J
n
Ko

H

<J

21 AlOF

<
i
K0

.

<J

i

)

3

38 22(

= =

3.18.)[)

*(5.6.10.

F=RaPN

-

<J

rr

t/

<J

21 Al Ot

-

<J

i

-

<J

fir

a

o0
&0

12(d)

32

.

<J

r

t/

<J

21 AlOF

LH &

oF)

o

<

i

-

<

fir

A

<

SHRIDI/otE
S1001/0t3
2el1J|/otE

o

SR/t

Ho
Ho

HEH/ Ot

o

2 X/0t3

Ho
M0

A/t

n
=

Ao
H0

ZJ1/2t

_Im

Hio

=101/t

I+
Uk

gl

776.7
106.0
50.5
17.4
141.8
0.7
0.6

857.4
129.9
47.4
18.2
180.9
0.5
0.6

806.9
12.7
24.0
30.9

313.2

16.4
10.1

728.5
100.9
39.3
19.4
184.4
0.9
0.7

6.3
55.9
20.1
24.0
205.1
4.6
3.0

745.74
232.31
0.37
0.44

745.74
167.34
0.31

(mg)

A(R.E)

El Ot

0l 4 Xl (kcal )
Hl EF



HIEt2IC(mg) | 23.52 30.25 32.1 10.9 76.0 13.6 27.9
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